ACMAT100 Spring 2025
Professor Manguba-Glover
Sections 6.1-6.2 Classwork (CW 9)

Name:

Complete as many of the following problems as you can. You do not have to go in order. You can
use a calculator to check your work but not to solve the problems.

If your entire table finishes early, you may leave early.

(1) Find the domain of the following rational functions. if the rational expression is defined for

all real numbers, state this:
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(2) Simplify the rational expressions.
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(3) Perform the indicated operation:
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(4) Perform the indicated operation:
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